Exit Ticket- Function Notation NAME / 4 St HOUR

Use the given functions to perform the indicated operations.

j(x)=x*+3x—8 k(x) = —x3 + 2x? + 5x — 15 mix) =3r =%
T2 (3)L+ 3(3)4{ S k{2 2 = (—L)3+ 1(-2) S e
9,9-7 = -(-g)+2(4) -10-15
- 1o =i “lp-tH = 1
3.m(2) = 3(z) - 2 4.j3%) = (3x) ¢+ 3(3x)—%
= 3(4)-1 =it el

= 1D /\7(

5.k(=x) = - (-x)®+ 2(-x) 5t 6mGx—1) = 3hei) - (k")
.

1]

& 3(>‘1’Zx,+|)—)¢+l

= 3 2 -
X ok —s—x -18 :3541—"6;(-3 % &

= S -7t

R R g B T T e e

Xl)(k-’
e w -y ¢
X ~Zgal



	IMG_0002

